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 M. Com. (Final) EXAMINATION, 2021 

(Compulsory) 

Paper Third 

INCOME TAX LAW AND TAX PLANNING 

Time : Three Hours ]  [ Maximum Marks : 100 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- fuEufyf[kr ij fVIif.k;k¡ fyf[k, % 

(i) O;fDr 

(ii) djnkrk 

(iii) okf”kZd ewY; 

(iv) u olwy gq, fdjk;s dh jde dh olwyh 

Write notes on the following : 

(i) Person 

(ii) Assessee 

(iii) Annual value 

(iv) Realisation of unrealised rent 
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vFkok 

(Or) 

fe- jktho foŸkh; o”kZ 2018&19 ds fy, viuh vk; dk fuEufyf[kr 

fooj.k izLrqr djrs gSa % 

¼v½ osru   ` 15]000 izfrekg 

¼c½ eg¡xkbZ HkŸkk ¼lsok‘krks± ds v/khu½ ` 1]500 izfrekg 

¼l½ euksjatu HkŸkk ` 1]000 izfrekg 

¼n½ izekf.kr Hkfo”; fuf/k esa fu;ksDrk o Lo;a dk va’knku  

     ` 25]000 izR;sd 

¼;½ fuf/k ls lafpr ‘ks”k ij 9.5% okf”kZd nj ls C;kt ` 19]000 

¼j½ uxj {kfriwjd HkŸkk ` 200 izfrekg 

¼y½ fpfdRlk HkŸkk ` 10]000 

¼o½ fu;ksDrk dh vksj ls mUgsa jgus ds fy, ,d dLcs esa ¼ftldh 

tula[;k 10 yk[k ls de gS½ vlqlfTtr edku dh lqfo/kk Hkh 

iznku dh xbZ gS ftldk fu;ksDrk ` 500 izfrekg fdjk;k ysrk 

gSA edku dk mfpr fdjk;k ` 30]000 okf”kZd gSA edku 

fu;ksDrk dk gSA 

¼’k½ fu;ksDrk us mlds fy, ,d QjkZ’k ` 200 izfrekg ij rFkk ,d 

ukSdj ` 750 izfrekg ij j[kk gqvk gSA 

¼g½ fu;ksDrk us ,d NksVh dkj O;kikfjd ,oa mlds futh dke ds 

fy, ns j[kh gSA ijUrq futh dke ds O;; fe- jktho ogu djrk 

gSA 

dj&fu/kkZj.k o”kZ 2019&20 ds fy, ^osru* ‘kh”kZd dh dj&;ksX; vk; dh 

x.kuk dhft,A 
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Mr. Rajeev furnished the following particulars of his income 

for the financial year 2018&19 : 

(a) Salary  ` 15,000 p. m. 

(b) Dearness Allowance (as per the terms of employment)  

     ` 1,500 p.m. 

(c) Entertainment Allowance ` 1,000 p. m. 

(d) Employer’s and employee’s contribution to a 

recognized provident fund  ` 25,000 each   

(e) Interest from provident fund @ 9.5% p. a. ` 19,000 

(f) City Compensatory Allowance ` 200 p. m. 

(g) Medical Allowance ` 10,000 

(h) He has been provided with the facility of an 

unfurnished house by the employer in a town 

(population less than 10 lakh) for which the employer 

charges ` 500 p. m. The fair rent of the house is  

` 30,000 per annum. The house is owned by the 

employer.  

(i) The employer has employed for him a sweeper  

@ ` 200 p. m. and a servant @ 750 p. m. 

(j) The employer has been provided a small car for official 

and private pruposes, expenses for private purposes are 

met by Mr. Rajeev. 

Compute the taxable income under the head ‘salary’ for the 

assessment year 2019-20. 

 bdkbZ&2 

(UNIT—2) 

2- fuEufyf[kr ij fVIif.k;k¡ fyf[k, % 

(i) lV~Vs dk O;ogkj 
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(ii) izkjfEHkd O;;ksa dh dVkSrh 

(iii) djeqDr xSj&ljdkjh izfrHkwfr;k¡ 

(iv) izfrHkwfr;ksa ds foØ; ij ykHk vFkok gkfu 

Write notes on the following : 

(i) Speculative transactions  

(ii) Deduction of preliminary expenses 

(iii) Tax-free Non-govt. Securities 

(iv) Profit or loss on sale of securities 

vFkok 

(Or) 

foŸkh; o”kZ 2018&19 dk Jh ‘;keyky dh vk; rFkk vU; fooj.k 

fuEufyf[kr gSa % 

  ` 

(i) osru ls dj&;ksX; vk; 3,50,000 

(ii) vYidkyhu iw¡th ykHk 12,000 

(iii) nh?kZdkyhu iw¡th ykHk 40,000 

(iv) lkof/k tek ij cSad ls C;kt 10,000 

(v) ykWVjh ls vk; ¼ldy½ 25,000 

(vi) fu%’kDr vkfJr dh fpfdRlk ij O;; 30,000 

(vii) bafnjk xka/kh Le`fr VªLV dks psd }kjk nku 25,000 

(viii) jk”Vªh; cpr i= VIII fuxZe esa fofu;ksx 10,000 

(ix) lkoZtfud izkWfoMs.V Q.M esa va’knku 15,000 

dj&fu/kkZj.k o”kZ 2019&20 ds fy, dqy vk; rFkk vk;dj dh x.kuk 

dhft,A 
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Following are the income and other particulars of Shri 

Shyamlal for the financial year 2018&19 :  

  ` 

(i) Taxable income from salary 3,50,000 

(ii) Short-term capital gains 12,000 

(iii) Long-term capital gains 40,000 

(iv) Bank interest on time deposit 10,000 

(v) Lottery Income (Gross) 25,000 

(vi) Expenditure on medical treatment of a 

disabled dependent 30,000 

(vii) Donation to Indira Gandhi Memorial 

Trust by cheque 25,000 

(viii) Investment in National Saving 

Certificate (VIII Issue) 10,000 

(ix) Contribution to Public Provident Fund 15,000 

Compute the total income and income tax for the assessment 

year 2019-20. 

bdkbZ&3 

(UNIT—3) 

3- iqu%dj&fu/kkZj.k ls vki D;k le>rs gSa \ ;g fdu ifjfLFkfr;ksa esa 

fd;k tkrk gS \ 

What do you understand by Reassessment ? In what 

circumstances is it done ?  
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vFkok 

(Or) 

¼v½ fuEufyf[kr lwpukvksa ls ,d O;kikjh dh dj&fu/kkZj.k o”kZ 

2019&20 ds fy, ldy dqy vk; Kkr dhft, % 

  ` 

(i) edku lEifŸk ls vk; ¼laxf.kr½ 2,50,000 

(ii) O;kikfjd gkfu 60,000 

(iii) pkyw o”kZ dk kl 10,000 

(iv) xro”kks± dh O;kikfjd gkfu 50,000 

(v) xro”kks± dk v’kksf/kr kl 30,000 

(vi) vYidkyhu iw¡th ykHk 20,000 

(vii) nh?kZdkyhu iw¡th gkfu 30,000 

From the following information of a trader, compute 

the gross total income for the assessment year  

2019-20 : 

  ` 

(i) Income from House Property 

(Computed) 2,50,000 

(ii) Business Loss 60,000 

(iii) Current year’s depreciation 10,000 

(iv) Business loss of preceding years 50,000 

(v) Unabsorbed depreciation of 

preceding years 30,000 

(vi) Short-term capital gain 20,000 

(vii) Long-term capital loss 30,000 
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¼c½ Jh jes’k dks foŸkh; o”kZ 2018&19 esa ` 60]000 vfxze dj ds 

:i esa tek djkus FksA mlus fuEufyf[kr jkf’k tek djkbZ % 

 ` 

15-6-2018 9,000 

15-9-2018 15,000 

15-12-2018 16,000 

15-3-2019 20,000 

D;k Jh jes’k dks /kkjk 234 C ds vUrxZr dksbZ C;kt nsuk 

gksxk \ ;fn gk¡] rks C;kt dh jkf’k crkb,A 

Shri Ramesh has to pay ` 60,000 as advance tax during 

the financial year 2018&19. He deposited the following 

amounts : 

 ` 

15-6-2018 9,000 

15-9-2018 15,000 

15-12-2018 16,000 

15-3-2019 20,000 

Is he liable to pay any interest U/S 234 C ? If yes, 

determine the amount of interest payable. 

bdkbZ&4 

(UNIT—4) 

4- ¼v½ Hkkjrh; vk;dj vf/kfu;e ds vUrxZr ,d dEiuh ds izeq[k 

vf/kdkjh ds D;k nkf;Ro gSa \ 

What are the obligations of the principal officer of a 

company under the Indian Income Tax Act ? 
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¼c½ fuEufyf[kr lwpukvksa ds vk/kkj ij dj&fu/kkZj.k o”kZ 2019&20 ds 

fy, O;fDr;ksa ds la?k ds ‘kq) dj&nkf;Ro dh x.kuk ;g ekurs 

gq, dhft, fd blds ,d lnL; X dh vU; vk; dj&;ksX; 

gS % 

(i) nh?kZdkyhu iw¡th ykHk ¼x.kuk fd;s gq,½ ` 25]000 

(ii) ykWVjh ls thr ¼ldy½ ` 50]000 

(iii) edku lEifŸk ls vk; ` 40]000 

From the following informations, compute the net tax 

payable by an ‘Association of persons’ for the 

assessment year 2019-20 if X, a member, is liable to 

pay tax on his other income : 

(i) Long-term capital gain (Computed) ` 25,000 

(ii) Lottery winnings (Gross) ` 50,000 

(iii) Income from House Property ` 40,000 

vFkok 

(Or) 

AB & Co. ,d QeZ gS ftldk dj&fu/kkZj.k ,d QeZ dh rjg gksrk 

gSA dj&fu/kkZj.k o”kZ 2019&20 ds fy, fuEufyf[kr fooj.k miyC/k gSA 

fuEufyf[kr ?kVkus ds i’pkr~ ykHk&gkfu [kkrs esa gkfu ` 1]50]000 % 

  ` ` 

(i) lk>snkjksa dks ikfjJfed %   

 A 90,000  

 B 60,000  

 C 30,000 1,80,000 
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(ii) iw¡th ij C;kt @ 20% %   

 A 20,000  

 B 24,000  

 C 18,000 62,000 

(iii) isVsaV vf/kdkj [kjhns  80,000 

(iv) jk”Vªh; lqj{kk dks”k esa psd }kjk nku  20,000 

(v) izkjfEHkd O;;  20,000 

lk>snkjksa dk ikfjJfed lk>snkjh lays[k ds vuqlkj gSA QeZ dh dqy 

vk; Kkr dhft,A 

AB & Co. is a partnership firm, assessed as firm. The 

following particulars are available for the A. Y. 2019-20. 

Loss as per P & L A/c after debiting the following  

` 1,50,000 :  

  ` ` 

(i) Remuneration to partners :   

 A 90,000  

 B 60,000  

 C 30,000 1,80,000 

(ii) Interest on Capital 20% :    

 A 20,000  

 B 24,000  

 C 18,000 62,000 

(iii) Patent rights acquired  80,000 

(iv) Donation to National Defence 

Fund by cheque  20,000 

(v) Preliminary Expenses  20,000 

Remuneration to partners is as per partnership deed. 

Calculate the total income of the firm. 
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bdkbZ&5 

(UNIT—5) 

5- ;g fu.kZ; ysrs le; fd gkfu esa pyus okys O;olk; dks ftlesa 

viwfjr kl Hkh gS] ^cUn dj fn;k tk; ;k pkyw j[kuk tk,* vki dj 

lEcU/kh fdu ckrksa dks /;ku esa j[ksaxs] crkb,A 

Explain the tax consideration to be kept in mind while 

deciding on ‘shut-down or continue’ of a loss making 

business, which also has unabsorbed depreciation. 

vFkok 

(Or) 

Jh lqHkk”k pUnz ik= O;olk; vkjEHk djuk pkgrs gSaA muds iq= f’kjh”k 

,oa vk’kh”k O;kikj esa lfØ; Hkkx ysrs gSaA og viuk dj&fu/kkZj.k /kkjk 

44 AD  ds vUrxZr ldy foØ; ij 8% ykHk ekudj djokrs gSaA 

o”kZ 2019&20 ds fy, lEHkkfor vk¡dM+s vxz izdkj gSa % 

(i) vuqekfur foØ; ` 75 yk[kA 

(ii) ;fn O;kikj ,dy LokfeRo Lo:i esa lapkfyr fd;k tkrk gS] 

rks izR;sd iq= dks ` 10]000 ekfld osru fn;k tk,xk] ysfdu 

lk>snkjh QeZ dh n’kk esa rhuksa dks ` 10]000 izfrekg ¼izR;sd½ 

osru fn;k tk,xkA 

(iii) O;kikj dh iw¡th ` 3 yk[k gksxhA rhuksa cjkcj iw¡th yxk,¡xsA 

(iv) QeZ lk>snkjksa dks iw¡th ij 12% C;kt nsxhA 

mi;qZDr ckrksa dks /;ku esa j[krs gq, mUgsa ijke’kZ nhft, fd os viuk 

O;kikj ,dy LokfeRo ds :i esa vFkok lk>snkjh QeZ ds :i esa 

lapkfyr djsaA 
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Mr. Subhash Chandra wants to operate an eligible business. 

His two sons Shirish and Ashish are taking active part in the 

business. He assessed his income U/S 44 AD on the basis of 

deemed profit @ 8% of turnover. Estimated figures for the 

year 2019-20 are as under : 

(i) Estimated sales ` 75 lakh. 

(ii) If the business is run as proprietary concern, each son 

will be paid salary ` 10,000 per month, but is case of 

partnership firm all three partners will get 

remuneration `  10,000 per month each. 

(iii) Capital of the business will be ` 3 lakh. Contribution 

equal. 

(iv) The firm will pay interest on capital to partners @ 12% 

per annum. 

Considering the above facts suggest that they should run the 

business as a Sole Trader or a Partnership Firm. 
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